Problem Set 31: Optical Communications
Complete the following problems from the textbook Principles of Electronic Communication Systems, 3rd ed. 
Chapter 19
Questions: 2, 8, 13, 14, 18, 22, 26, 29
Problems: 3, 11, 14, 15
Additional Question:

1. The specifications for the cable of the test system shown in the lecture are:

Cladding:140 µm

Numerical Aperture (NA): 0.28

Bandwidth @ 850 nm = 303 MHz-km

Attenuation @ 850 nm = 3.4 dB/km

Length of cable = 500 m

a. What is the critical angle of the cable, θc?

b. What is the attenuation of the cable at 850 nm?

c. What is the bandwidth of the cable at 850 nm?

d. Is this cable: Low Loss, Medium Loss or High Loss?



































































































































































































































































































































































































































































































































































































































































































































































